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1. (8 pts) Find the set of solutions to the inequality 2z — 1} >z + 5.
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2. (7 pts) The sum of the ages of three brothers is equal to 29. Also, the sum of the ages of
the younger two brothers is 5 more than the age of the oldest. I"ind the age of the oldest

brother.

3. (8 pts) Find the set of solutions to the inequality 22 + 8z + 11 { oz 43
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4. (7 pts) Find real numbers a and b so that a + b = 52,
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5. (227 pts) Let f(z) = 2%+ 3z + 2.
a) Complete f(z) to a square. [Find h, k such that f(z) = (z + k) + ]
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b) Find the vertex of f(x).

vertex = <—~% , .m_%:i\)

6. (7 pts) Find the coordinates of a point P = (z, y) so that the distance from (=7,9) to P
is one third of the distance from (5, —7) to P.

P=(-4,5)
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7. (7 pts) Find an equation of the line passing through the points (—3,4) and (1, —8).
(Write your answer in standard form: y = mx + b)
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8. (7 pts) The graph of f(z) is given below. Graph g(z) = f(r + 2) — 1 in the blank grid

provided.
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9. (7 pts) Describe a function g(x) in terms of f(z) if the graph of g is obtained by shifting
the graph of f to the left by 5 units and down by 4 units.

g9(z) = F(x+S) -4

10. (2z7 pts) Complete the table below by filling in correct values of { fog) (:1:) and (fog™1)(z):

x 1 2 3 4
f(z) 4 1 2 3
9(z) 2 4 1 3

(f o g)(z) i L 2.
(fog N)(z) 2. L, £ !




11. (7 pts) Divide P(z) = 2% — 328 + 22+ 4 by Q(z) = 2> — 4.
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12. (7 pts) Use the remainder theorem to find f(7) where f(z) = z° — 62* — 132% 4+ 21z + 4.
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